
17 Sections Crew Tasks Movement Gunnery & Marine Fire
MOVE PHASE Rigging Hull Crew Prior G-t Current G-t

1 2 3 4 1 2 3 4 S1 S2 S3 S4 M CQ S1 S2 S3 S4 M S1 S2 S3 S4 M BSS Plot Move ESS Selection Target P/S Rng Aim BGN Sum MGN CH? Marine Fire Notes

BRITISH
C FF no
C MS MS FF no
C FS FF no
B MS MS FS no
C MS MS
C MS MS MS MS no

B FS RR no
B FS no
C mf mf no
C RR RR no
C RR no
D FF FF
C FF FS no
C FS no

C
C FF FF no
C no
C no
C MS MS FS FS no
C RR RR no

FRENCH
B PS PS
C MS PS PS
C FF FF
C FF FF no
C MS FS no
C FF MS no

C FF T T T Y
C RR no
C FF no
C FF no
C FF mf no
C MS no

D no
B FF FF no
C no
C no
C FF FF Y
D no
C RO RR RO RR no

Alfred 
Belliqueux 
Invincible 

BARFLEUR 
Monarch 
Centaur 

America 
Resolution 

Prudent 
Bedford 

LONDON 
Royal Oak 

Montagu 
Europe 

Terrible 
Ajax 

PRINCESSA 
Alcide 

Intrepid 
Shrewsbury 

Pluton 
Bourgogne 

Réfléchi  
AUGUSTE 

Scipion 
Hercule 

Sceptre 
Northumberland 
VILLE d. PARIS 

Saint-Esprit 
Solitaire 
Citoyen 

Conquérant 
Jason 

Ardent 
DUC de B. 

Eveillé 
Provence 
Neptune 

MS FF MS MS 3 (L) 3 MS SCIP P 10 h 13 2 15
MS 2 P 2 MS Closest (Low) SOL S 4 L 21 4 25
FS 1 P 2 Pass FS SCEPT P 7 L 18 -4 14 CH= h06 -1h || R1=5 (OP-2) || H1=LCQD -1m // 3MC=+++
MS 3 P 2 FS SOL P 1 L 28 -4 24
PS P 2 S Pass >MS No Fire nofire 1 -
PS (L) 2 MS SCIP P 13 h 10 1 11

FS Fail: 1 S 2 FS SOL S 3 L 22 4 26
FS (R) 2 (R) FS CONQ S 10 h 13 -4 9
FS 0 none, drifts FS SOL P 1 L 24 -6 18  Y = 0
FS 0 none, nodrift FS Closest (Low) SOL P 4 L 23 -6 17
FS (L) 3 FS STE P 5 L 24 2 26
FS (R) 1 FS No Fire nofire - -
MS 1 (R) 3 FS CONQ S 7 L 18 2 20
FS 4 FS NEP S 2 L 23 1 24 R1= LJ (immediately fixed)

MS Inc/pass: 3 S 1 MS nofire 2 -  Incorrect move: can only accel by *2*. 
MS Fail: P 4 P 1 MS NEP P 3 L 24 - 24 R1= r02 -1r  || H1 = r10 YSA -2r, -2PO -2SO  ||   1MC=F
MS 3 MS DUC S 14 h 7 -6 1
MS 1 (R) 1 MS CONQ S 6 L 20 -1 19 CH= h09 -2GDs 
PS S 4 MS CONQ S 6 L 18 1 19 WSA PM die roll = "Pass"
FS 2 FS PROV S 5 L 22 -10 12  S1= MC   //   1MC= +

PS 2 S 2 Pass PS nofire 3 -
MS S 2 S 1 FAIL: 1 S 2 S >PS nofire 2 -
MS 2 (R) 3 MS nofire 2 -
MS S 3 MS INV S 9 L 17 2 19
MS S 2 S FS INV S 9 L 15 1 16 R1= r02/does not fall = -1r  
FS {SC: S 3} Auto-Pass MS INV S 10 h 14 2 16

FS 2 P FS INV P 7 L 19 -5 14
FS 1 S 2 FS AMER S 7 L 19 -6 13
MS 2 S 3 Fail: 3 S 2 MS LON S 6 L 24 2 26
MS 4 S Pass MS Closest (Low) AMER S 5 L 25 1 26
MS (D) none, drifts (MS) PRU P 1 L 23 -2 21  Y = -1m  R2= LJ  ||  H2= -1h  ||  S1    //  2MC= ++
MS 4 S 1 Pass MS EUR S 3 L 25 4 29

FS {SC: 1 S 2} Pass FS AJAX P 7 L 19 -3 16  H1= LCQD -1m    // 2MC= +F
FS 1 (L) 1 FS SHREW P 7 L 15 -5 10
MS 2 S 2 Fail: 3 S 1 MS AJAX S 3 L 22 5 27
MS 6 MS AJAX P 7 L 19 1 20
MS 1 S 2 MS No Fire ALC P 8 L 13 2 15
FS 1 S FS SHREW P 5 L 19 - 19
FS (L) 3 FS EUR P 2 L 26 -5 21 SS4 reorg.  ||  R1= r02 -1r  ||  H1= -1SB  //  1MC=+
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